Order of Operations (A)

Perform the operations in the correct order.

1. ((10+(_10>)7)2 6. 9— (10+(=2)—5)

2.2 % (—6) =+ ((—6) x 2) 7. (1) % (8~ (~2))
3. (6—(—10)) = (4+ (-2)) 8. 5+(=7)—(-3)+2
4 (241)x6+(-9) 9. (=10) x (=1) = (-8) +4
5. (=2)+2+(1+(=1)) 10. 1% (—=3) x (=3+2)
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Order of Operations (A) Answers

Perform the operations in the correct order.

L (105 (-10))7) 6.9 (10+(-2) -3

2 2% (~6) = ((~6) x2) o

5 (6 (-10))+ (4= (-2) SN = (342
Q4D x6+(-9 0. (C10)x (~1) = (=8) 4
. (D524 (1 (-1) 10- 1 (=3) > (=3+2)
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Order of Operations (B)

Perform the operations in the correct order.

A4

33+2—3

—1-8+4+(-1)

(=) =1 x2

6. (—6—5)+(4+(—4))

7. (=)' %2

8. 7T+7+4—-17

9. =6 — (=74 (—4))+(=7)

10. (-—1)31 x (—10)
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Order of Operations (B) Answers

Perform the operations in the correct order.

1. 4% =42 6. (—6—5)+(4+(—4))
=1 =11
2. 3:352_3 7. (:_21)1+1 x 2
3. -1 —8+4+(—1) 8. T+T7+4—-17
— =11
4. 184 _(=7) 9, :6—2(—7+(—4))+(—7)
5. (=1)=1)°%x2 10. (=1)* x (—10)

I
o |
I
ek
o
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Order of Operations (C)

Perform the operations in the correct order.

1. (=3)' x (10— 10) 6. (949) = (—6)=3
2. (—4+7-4) 7. (6= (=3)+9)+(-2)
3_((_1f)&ﬂ—® 8. 8x2x (—1)°

4 (=2)*4+9x (~1) 9. =3+ (=2)+(—1)

s (—4)x 1x4+8 10. ((=2) x2x (—1))'
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Order of Operations (C) Answers

1. (=3)' x (10— 10)
=0

2. (—4+7—4)"
=—1
8+(—6)
s (1))
=1

Perform the operations in the correct order.

6. (949)+(=6)+3
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Order of Operations (D)

Perform the operations in the correct order.

L (2—4)x(—4)=4 6. (—6) x 2+ (—10—(—7))
2. (=3)"+(=3) +(=5) 7 (=1

3. —2—T7+6x(—1) 8. (3+10—2)x 1

4. =2 —(—1)x 3+ (-3) 9. (—2)8H) _(_s)

5. (—4) = (4= (4+1)) 10. (—6+8+2) x (—8)
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Order of Operations (D) Answers

Perform the operations in the correct order.

L (2—4)x (—4)+4

3. —2—-T74+6x(—1)
=—15

6. (—6) x 2+ (—10—(=7))

(—1)3+(65)
=1
(3410—-2) x 1
=11

10. (—64+8+2) x (—8)

=16
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Order of Operations (E)

Perform the operations in the correct order.

L (=2—(=3))*+(=5) 6. 2+6+(—1)

265 ((-1)) 7.2+ (-8+6))°

8. 3x3+(=9)+(-9)

4 (8+2+(=2)) o (=3)+ <(_1)7>4

5. (4—(=10)) = (4+4) 10. (10 (—10))"*"
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Order of Operations (E) Answers

Perform the operations in the correct order.

L (_—2—(—3))2+(—5) 6. 2_+96+(—1)2
265 ((-1)) 125 (=8+6)
=6
8. 3x34+(—9)=+(-9)
3. (=2) +(=7)=3 =10
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Order of Operations (F)

Perform the operations in the correct order.

1L (10=7)=(=1) 6. (—1—(—4)) x(2+(-4))
2. 4x (—8+7)" 7. (=) x7+(=7)x8

3. (—4)7'P -8 8. =9+ (=7)—(-5+2)
4.2x8+(—8) x2 0. (—1)¥ =73

5.6+ ((—1)9> : 10, (4 (—4))*!
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Order of Operations (F) Answers

Perform the operations in the correct order.

L (10=7)+(=1) 6. (—1—(—4)) x (2+(—4))
— _3 =—6

2 dx (~847)" 7 (~1)xT+(-7)x8
— 4 =38

3. (—4) 1P =8 8. —9+4+(—=7)—(—5+2)
) =—13

4.2x8+(—8) x2 9 (_1)8_7_3
= =9

5 6-((—1)9>10 10 (4_(_4))4—|—1
—6 =1
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Order of Operations (G)

Perform the operations in the correct order.

1 ((=10) + (=10) —3) = (—2) 6. —4+(—10) 4 (=2)+7
) (—3)2x(D=2 7 (—2)10(10x(-3)

3 (=1 x (=1)! 8. (—4)"+(3-5)

4 (=17 9. =5—((=2)x (=7)-9)
5.9 — (—4)+22 10. 6+ (9—7)+9
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((~10) = (=10) = 3) = (=2)

~~
|

Order of Operations (G) Answers

Perform the operations in the correct order.

6. —445(—10) +(=2)+7

9. —5—((=2) x (—=7)—9)
= —10

10. 6+ (9—-7)+9

I <
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Order of Operations (H)

Perform the operations in the correct order.

L(2+=(1x(=2))

2. =5+10-10x1

3.2x7+(7—-6)

5,543 % (—6) = (—3)

6. (—8)+4—(—2+4)

7. (10— (=142))+9

9. (7T—3x3)= (1)

10. 24+ (—10) -8
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Order of Operations (H) Answers

Perform the operations in the correct order.

(2= (1x(=2))) 6. (—8) +4—(-2+4)

- ] =—4

- =5410-10x 1 7. Q(i—(—1+2>)+9
2% 7+ (7—6) 8.6—(—4)+(-1)—(-9)
— 14 =18

(_4)8>< (—2) —4? 9. (_7—3 x3)+(—1)
543 % (—6)=(—3) 10. 24+ (—10) -8

=11 =2
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Order of Operations (I)

Perform the operations in the correct order.

L (224(=6) 10+ (=2) 6. ((—1)3)2—8

2. (—1) x (=8)—(7+5)

| o
s 10— (17’ s (=6) x (—2+(-1)?)
b 10+ (~8) + ((~2) x (~2)) o (=27 10

s ((-1+2) 10.6 % (~3+2)°

Math-Drills.com




Order of Operations (I) Answers

Perform the operations in the correct order.

L (246~ 10+ (-2) ) ((_1)3)2_8
2 (=1) x (=8) — (745)

I
|
N
~
(U
w
+
Ne)
+
o

6
> ;11)1_1 <<_1) > 8. (—6) (—2+(—1)2>

4 —10+ (=8) = ((—2) x (=2))

— 15 0. (—2)¥ 10
=6
)52 8 4
5. ((=1) 10. 6 X (—=3+2)
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Order of Operations (J)

Perform the operations in the correct order.

L((=1)x(=2))*=10

2. (=3)7% 4 (=7)

3 (6+(—2)2> L (=5)

4 (=1)°+10—4

6. (=7—=T7+(-1))+1

8
3. 24><1

9. (—8) = (=5—2x (—2))

10. 84+ (=1)+(-9)
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Order of Operations (J) Answers

Perform the operations in the correct order.

L ((=1)x(=2))*=10 6. (—7—7+(—1))=1
— 6 =0
2 (=3)72 4 (=7) 7 ((—8) =+ (—8)
6+ (—2)2) = (—5 418
s£_+2< 7)+ (=) 5. 20!
4 (=1)°+10—4 9. (=8)+(=5-2x(=2))
=7 =38
5. (=7) x (=1)7 x (=2) 10. 8+4 -+ (—1)+(-9)
— 14 =11
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